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1. a. Solve |z — 3| =T. .= 10, -y

b. Find the center and radius of the circle described by z% + 3% — 2z + 4y = 0.

center = ( l’ ..7_> radius = 6—5_
¥320 w3 <0 (v-2xd +[§ +9949) =5
—’S:q. "(\ﬁ-"s) =% 'y + -
ey T N (x-1)ts Cgrad> =3
- = Y
¥ = -

2. Find the equation of the line through (3, 2) which is parallel to the line passing through
(2, 1) and (5, 9).

Equation : 8_-—1 = %(x_3>
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3. Show that the equation o= z? — 3z + 1 has at least one solution on the interval (2, 3).
Justify your answer.

Loz 5 X 3% =1 o on 12,50 feceine o
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C0)= 1 -¥+L-1=3 50
g(3)= 5 -9#4-1=-5<0
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4. Find the derivatives. You do not have to simplify your answers once you have finished

differentiating.
1 4 = — ,}—f———"
_ ) o -y
') = (1+ )‘_'L) (l) Exe - 9 - =7
b. g(t) = —ICI;(:Z g(t) =
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5. A person invests $100 in a bank that compounds interest continuously. If the investment
triples in 15 years, find the interest rate.

Interest rate equals: av_—TVg

t
Py = 1002 v 1

PGs) =300 = /000
P
1sv = In 3
o
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6. a. Find h_{)l(l) 2e%. Limit equals: Z
T

Q/*(;@C:n:cu' e,.c,':,,,, )QDMPL"&—V‘;
20 =2

b. Find the derivative of g(x) = e*%. | ¢() = C_Q/S ‘Mx) LC\R—V-)
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7a. Find lim — =2

—————. | Limit =
=212 — 3z + 2 l

(2(z + 1) ifz <3

b. Find lir% f(z) where f(z) =<4 ifz=3.
T—r

(22— 1 ifz>3
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8b. Find lim 2——,
z—1 xr
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9. An astronaut standing on the edge of a cliff on the planet Pogo jumps directly upward
and observes that she passes her initial position on the way down exactly 4 seconds later.
Three seconds after that, she hits the ground at the base of the cliff. What is her initial
velocity? How high is the cliff? With what velocity does the rock hit the ground? A(t) =
-—-gt2 + vot + 8o, and g = 2 ft/s? near planet Pogo’s surface. Hint: What is h(4)? Plugging
in gives you an equation that you can solve for vy.

Initial velocity: Lf

Cliff’s height is: XN |

Impact velocity is: — [ 0

l,) {,'),,_t +’U“t+€
(ln(t-h b)) so
"[L'f"‘"'\ro% =%

",L:"’kfvo =0

[h(#)=0]

G ven MFoRMATIOA

—F e HF+S
UG 328 45, =0
%o = Tl

vlt)= -Lt+ 4
U(¥) = 4+ = /0
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Find all values of x in [—5, 5] where f fails to be
a. continuous.

x=1

b. differentiable.

c. For which values of x is the derivative of f equal to 07

¥-=3

d. Find lim f(z) and lim f(z).
z—1- z—1t

/Q,M:,A Leyd =2
N>

Q‘ cly)=[

x>




